
Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the slides (twice).
- Then, leave the notes aside and answer the questions (I do not value answers that are transcriptions of the lecture notes). If you do this, you’ll have to study much less before for the tests.
The answers of Week 6’s questions should be handed to me at the next lecture at ISEG. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the slides). Keep a copy for yourself.

Reserve 4 hours per week to answer the questions. If you answer them in a serious way, you’ll need to study much less for the exam.
Please write WEEK 6 in bold at the beginning of your answers.

Week 6
L11: Oligopoly and the first two EBs

1.What will happen if there is free entry and oligopolistic companies set the monopoly price? Explain.
2. Why may ECs have lower production costs than NCs?

3. If the price that provides established oligopolistic firms normal profits (5€) is lower than that of a new potential company (7€), will the former set their price slightly below 7€? Explain.
4. Why should we expect oligopolistic companies to have excess capacity on a permanent basis?
5. Why do consumers tend to buy from ECs rather than by a NC that enters a certain industry?

6.  a) Given the goodwill of consumers in favour of ECs, what will happen if they set the price at the monopoly level and a NC enters with a price discount to attract customers? Explain.

b) Should we expect that entry to take place?

7. To overcome the goodwill of consumers in favour of ECs, would you advise a NC to enter through price discounts or by making a lot of publicity? Explain.

8.  a) Given the goodwill of consumers in favour of ECs, what will happen if they set the price at the monopoly level and a NC enters with a lot of publicity to attract customers? Explain.

b) Should we expect that entry to take place?
9 a). If ECs set the monopoly price they’ll have excess profits and therefore NCs will enter even if ECs have a cost advantage or an advantage with consumers. Do you agree? Explain.
L12: Oligopoly and the 3rd and 4th EBs + imperfect completion

9b). What is an EB?

10. “ Ecs of scale exist because at a larger scale fixed costs are diluted in more units of output.” Do you agree? Explain.

11. What does it mean to say that there are ecs of scale in publicity?

12. Why does a doubling in publicity is likely to lead to more than a doubling in sales?

13. Why may upfront costs lead to ecs of scale?

14. Why may indivisible costs lead to ecs of scale?

15. Why may big firms may buy their supplies at lower prices than small firms?

16.a) What it means to say that a worker is more efficient than another?

b) Why may big firms have more efficient workers than small firms?

17. What is the Minimum Efficiency Scale?

18. How do companies obtain the money they need to make investments?

19. “Even if an entrepreneur does not have enough of its own money to invest, she can always obtain the amount she needs through bank loans or the issue of securities.” Do you agree? Explain.

20. Why was the attempt of a 4th company to enter the US car industry after WW2a unsuccessful?

…

21. Why does the distribution of tap water to a certain city subject to indivisible costs?

22. Key question.Consider again the numerical example used in the lecture to explain the 4th EB, but suppose that:

a) The indivisible costs are only 150€ and normal profits another 150€. How many companies will enter and operate in this market? Explain.

b) The indivisible costs are only 151€ and normal profits another 150€. How many companies will enter and operate in this market? Explain.

c) The indivisible costs are only 51€ and normal profits another 51€. How many companies will enter and operate in this market? Explain.

d) The indivisible costs are only 50€ and normal profits another 50€. How many companies will enter and operate in this market? Explain.

23. What is a ‘natural oligopoly’?

…

24.Bear in mind the three features that characterize an imperfectly competitive industry.

a) Which of those features are common to a competitive market ‘tout court’? Explain each of those features.

b) Which of those features are common to an oligopoly market?

25.  If carmakers earn excess profits for a few years, new car companies will emerge. Do you agree? Explain.

24. a) How do companies that operate in imperfectly markets set their prices?

b) What may be an alternative to the assumption ‘profit maximizing price setting’?

25. Consider again the example used in the lecture to explain that the company would set the price at 5.4€, but assume that the UVC is instead 0.5€. What would in this case be the result of the trial-and-error experiment analysed in the lecture? Explain.

26. Key question. From lecture 1 to 12, we analysed four types of markets. Explain briefly the way prices are formed in each of them.
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